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(@ {t:t>0,t= 19 BE AR}
b)) {t:t>1}
@{t:it>—2,t= —1,t=192 2E A3}
(d {t:t=>1}
3.
(@ r' )= <1,2t, 32>, r"(t)= < 0,2, 6t >
’ — = 2 1 3 L 4 ” — _ = 2
(b) 7' (¢) <ot Cagt ULt > r'(t)= < b
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() r'(t) = < 2e%, 9(3t— 1), % > r"(t)= < 4e*, 543t — 1), 1l
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(d) ' (#) = < sint+tcost, tet +et, 2t >, r"(t) = < 2cost—tsint, e (2+¢), 2 >

5.

(a) £THE ¢ (t) = < 3e”,4t°— 2, —2cos (3—2¢) >

(b) 3 Ir' (1) = V(3™ ) + (4 = 2)” + (~2cos 3 - 2¢) )’
= 95 + (468 — 2)* + dcos® (3 — 2¢t)

(c) 7F& =¥ ¢ (t) = < 9e¥,12¢%, —4sin (3—2¢) >

7.

(a) T(t) = T:(t) = 1 <24,2,0> = <t L
" O o2 +1 Vii+1 Vi +1
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(b) N(t):HT,iglfgn:(l+t2)< 5 = 5 27O>

1+t*)V1+t 1+tH)V1+t
=< 1 -t 9>

Vi+e:  J1+8

9.

(@) curlF= < 0,0,0 >, divF=1+ 2y + 32*

(b) curlF= < 0, 0,¢e"—2x >, divF =2y + ze’+ 2

(c) curlF= < —¢€°, —%, —2y >, divF=3

(d) curlF= < 22%y, 2y (1 —2y), —zz >, divF=yz
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11.
! 7
(a)/ (x2+y)dx+x2dy=f (2x2+2x3)dng
[&h 0
2
(b) / (x+y)dac+x3ydy:/ (3x8+x3+m)dx=%
C, -9

(c)
Yy 2t2 2 17 1
f —dszf 1+ 4¢° dtZ/t 1+t dt = Vadg=—= 0717 —=5+/5)
03.'1} 1t 1 5 12

13.
(a) sz F-drzf <x,y> + <cost, —sint > dt =0
C C

1
(b) W:/ F-d'r'Z/ <y,x> - <cost, —sint > dt = —
c c 2

15.
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